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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 I8 19
PyausHcbke 17 13 2.8 - - - 10C3+3+bn+13 86 0,70 I 27 32 430 4e subiprosa | Ilowxomxens 30 3ULAHO
Pyntsicbke 52 10 2.8 - - - 9C31Bn+/13 66 0.70 [ 23 24 300 4e canitTapia | crosOypoBumu 20 mMarepiajtis
PynusiHcbke 57 24 0,9 - - - 10C3+bn 63 0,70 I 21 20 310 de pyOka LIKIAHUKAMU 20 JHCBIIOPS AKYBAHHS
PynnsHcbKe 91 4 3.0 - - - 6/133C31Bny 121 0.50 111 24 40 210 3e B - 20 Pl
[lesyeHkiBChKe 1 5 2.8 - - - 8C31131bn+0c¢ 81 0,70 I 27 36 350 2e = Bt 25 B
[lleBueHKiBChKE 1 7 5.9 - - - 10C3+/I3+Ax 86 0,70 1A 31 36 490 2e - - 20 ==
[IleBuenkiBchke 1 11 4.8 - - - 9C31 /13 81 0.70 1A 28 36 420 2e - - 20 -
LlegueHKiBChKE 2 5 5.8 - - - 10C3+bnt+/13 91 0.70 IA 31 36 500 2e P B 20 B
lileBHeHKiBCbKe 2 17 35 - - - 10C3+bn 46 0,70 1 14 16 170 2e =- Pt 20 B
[LeBuenkiChbke 2 19 4.8 - - - 10C3 66 0,80 I 24 28 410 2e - et 25 -
[lesuenkinchke 3 2 0.6 - - - 9Cs1 3+bn 76 0,60 1A 28 32 370 2e P Eas 25 -
WeB4enxiscbke 3 3 42 - - - 10C3+/13 86 0,70 I 28 32 440 2e = - 20 )
lileB4eHKiBChKE 3 6 2,3 - - - 10C3+/13 76 0,75 1A 27 30 450 2e s =a 25 =
[eBueHKiBChKe 8 20 1,0 - - - 8131 Bnu1C3+bn+Oc¢ 76 0,40 1 25 32 170 2e - - 30 e
[UeBueHkiBChKe 3 10 0,3 - - - 10C3 76 0,85 1A 27 28 510 2e e - 15 Bt
llleByeHkiBChke 5 14 3.3 - - - 10C3+143 76 0,75 IA 29 32 490 2e = = 25 et
[HesueHKIBChKE 6 8 5.4 - - - 10C3+][13+bn 81 0,75 1A 30 36 525 2e B Eat 30 Pt
Ulesuenkinchke 7 5 2,7 - - - 10C3+3+Bn 86 0,70 I 28 36 440 2e P Bl 35 Bt
UlepuenkiBchke 7 6 272 - - - 9C31 I3 7t 0,70 1A 28 32 420 2e - == 20 B
[lesuenkiBebke 7 7 1,9 - - - 10C3 86 0,70 IA 29 36 460 2e = -a 15 B
lileBucHKiBCbke 7 8 15,0 - - - 10C3+/I3+6n 76 0,75 1A 28 32 480 2¢ ~- - 30 =
LlepuenkiBChice 10 28 1,6 - - - 10C3+/13+bn 71 0,70 1 24 . 28 360 2e - =a 25 -
[lHepuenkiBCchke 10 32 1,2 - - - . 10C3+bn+Oc 76 0.85 1A 28 36 530 2e Bl B 25 Pt
Hlsousuirinriice i 15 30 - - - 10C3+/13+bn 105 0.60 [ 30 36 420 2¢ B - 25 B




1 2 3 4 5 8 9 10 11 12 13 14 15 16 17 18 19
HlesuenkiBebke 12 2 0,3 - 10C3 105 0,30 I 28 40 225 2e BubiproBa | llowkomxerus 45 3riAHO
HlesuenkiBchke 12 6 1,8 - 9C31I3+bu+Bnu 105 0,60 I 29 40 370 2¢ caditapHa | croBGypoBUMH 40 marepiajis
HlesueHkiscoke 13 2 0,9 - 10C3 81 0,70 1A 30 32 490 2e pybka WIKIIHWKAMH 30 JICBIOPAIKYBaHHS
[lleBueHKiBChKe 13 3 0.6 - 10C3+bn 68 0,70 1A 27 32 420 2e - 5 30 -5
[lleBueHKiBChbKe 13 4 0.2 - 10C3+/13+bn 96 0,65 I 29 36 420 2e = = 35 -
[lleBueHKIBCLKE 14 3 0.8 - 10C3+/3 81 0,60 1A 30 36 410 2e = - 30 -
esueHkiBChKe 14 10 2.4 - 65ne4Ca3+ 3 63 0,80 1A 26 26 570 2e Bt e 30 B
[HeBueHKIBCbKE 18 15 5.2 - 91131 C3+bn I 0,70 11 27 40 350 2 B B 25 B
[Hepuenxischke 20 3 0,9 - 7133Cs T 0,70 { 29 36 400 2e B B 25 s
[lleBueHKIBChKE 22 6 0,2 - 10C3 66 0,60 1A 26 32 340 2e == == 35 B
UlesuenkiBchke 22 8 0,7 - 10C3 106 0,50 [A 31 40 380 2e e P 45 R
[HesueHKiBChKE 22 10 0.9 - 10C3 66 0,70 IA 27 28 430 2e =a B 35 -
[leBueHkiBCbke 22 21 1,2 - 10C3+/113 81 0,60 1A 29 32 390 2¢ Bt - 35 ==
[Hesuenkisebie 22 23 0,9 - 10C3+[3 106 0,50 I 28 36 330 2e B B 45 -
Hlenucisesice 22 25 22 - 10C3+ /13 76 0,70 IA 29 32 470 2e == - 30 -
[TlenuenkiBehke 23 14 10,6 - 10C3 56 0.85 1 20 24 325 2¢ Bt =a 25 =-
[Hentenxkisenke 24 1 8.9 - 10C3 46 0,75 [ 17 20 240 Je B P 25 -
[1esuenkincnke 24 5 1,3 - 10C3 56 0,75 1A 24 28 390 2e - - 30 -
illeBueHkiBChKe 24 13 4.1 - 10C3 47 0,80 1A 21 24 340 2e - B 25 -
[lleB4eHKIBCbKE 30 32 0.9 - 8C32]i3 116 0,60 [ 29 40 370 2e Bt == 40 e
[leB4eHKiBCbKE 35 3 1,1 - 9C31Bn 91 0,70 [ 29 36 440 2e Bl = 40 LR
[lesuenkiBcbke 37 27 1.2 - 10C3+/3 54 0.80 A 23 26 390 2e B - 30 -
[1lesueHkiBChKE 39 9 0.5 - 10C3+/13 116 0.60 1 30 32 420 2e - - 45 )
[IfeBUcHKIBCHKE 40 1 0.5 - 10C3 66 0.70 I 24 28 360 2¢ Bt -*a 25 -
HIeBuenKiBChKe 40 5 0.7 - 10C3+bn 76 0.70 I 26 28 400 2e = = 25 PSS
[lleByeHKIBCHKE 4] 4 2.6 - 10C3+bn 66 0,80 I 22 28 370 2e - Bt 35 ~e
[1leBueHKIBChKE 43 15 1,5 - 10C3+bn+/13 71 0,70 I 24 28 360 e - - 35 -
ileueHKIBCbKE 44 23 0.5 - 10C3+/{3+bn 57 0,75 v 18 20 260 2¢ - s 30 -
[HeBueHKIBCHKE 46 32 1.9 - 10C3+bn+/13 64 0.70 [ 23 28 350 2e P = 25 -
[HleBuenkinchbke 48 5 295 - 10C3+bn+Ak 54 0.85 i 21 26 380 2e Bt Bt 30 B

Jninposcobke 5 1 4.7 - 10C3 68 0.70 1 22 22 320 4e - - 28 -
Jininposcbke 5 3 11.5 - 10C3 65 0.80 I 23 26 395 de - - 35 -
Jlninposcbke 5 4 243 - 10C3 64 0,75 I 24 24 395 4¢ B - 35 Bt
JlHinposckke 6 1 10.3 - 10C3 65 0,85 [ 22 22 390 de - - 30 -
JIHInpoBChke 6 2 6.1 - 10C3 65 0,75 I 24 24 400 4e B = 30 B
JHinposcbike 6 4 73 - 10C3 64 0,70 i 23 24 350 4e - - 30 -
Jlninposcebie 10 21 6,4 - 10Cs 82 0,70 1l 23 28 345 4e - B 28 B
JIHINPOBChKE 11 10 1.9 - 7 79 0,65 l 2 30 340 4e B = 31 B
JHinpoBcbke 12 11 14 - 9 C3(86)1C3(96)+bn 86 0,60 I 25 32 320 4e ~. B 32 Bl
JlHinpoBcbke 13 7 0.5 - 10C3 71 0.60 [ 24 26 320 4e - - 35 -
JlHinpoBcbke 17 23 21 - 10C3+b6n 56 0,80 I 19 20 310 de Bt - 28 P
IiHinpoBcbke 18 14 1,9 - 10C3 61 0,65 . | 20 22 275 4e - - 25 --
JHinposcbke 19 11 6,9 - 10C3+/13+bn 54 0,85 { 19 18 320 4e == Ea 24 B
JlHinpogcbke 19 22 0,6 - 10C3+bu+/13 50 0.65 1A 21 22 280 e et - 29 B
JlHinposcbke 19 24 29 - 10C3+bn+ )13 74 0.60 I 23 . 26 300 e P - 30 B
JIHINpoBChKe 20 7 5,9 - 10C3 82 0,70 I 30 24 370 de - B 28 B
JIHINPOBCHKE 21 B 49 - 10C3 46 0.85 I 18 18 290 4e . B 23 -




1 2 3 4 8 9 10 I 12 I3 14 15 16 17 18 19
JHinposcbke 22 2 2.6 8C32Bn+Bau 49 0,70 I 20 20 270 de Bubipkosa |IlowkomkenHs 35 3PLHO
Jlninposcbke 22 3 32 10C3+bn 71 0,70 1 24 28 360 4e canitapHa | cToBOYpPOBUMH 31 mMarepianis
Jlninposebke 22 17 1,6 10C3+bn 87 0,60 1 27 36 360 4e pyOka UiKiJHUKaMU 31 JHCBNOPSAKYBAHHS
JlHinposcbice 24 2 5.5 9 C3(106)1C3(86)+bn 106 0,60 il 25 36 310 de - Pl 33 -
Juinposcexe 24 20 0.3 10C3+bn+113 52 0,60 1A 21 22 260 4e == - 28 -
JHinposcbke 25 17 1.1 10Cs 92 0,60 I 27 36 360 4e - R 30 -
Jliinposebke 25 18 2,5 10C3 92 0,60 [ 26 32 340 4e - “ 35 -
Jluinposenke 25 20 1.2 10C3 91 0,55 | 26 32 310 4e = - 33 B
Jliinposeske 26 15 1,8 10C3+13+bn 51 0,75 I 20 20 310 4e B m 28 .
JlHinpoBcbke 26 39 0,5 10C3+bn 91 0,60 I 26 32 340 4e = Bt 32 -
JHinpoBchke 27 16 1,3 10C3+Ak6+bn 53 0,70 1 21 22 310 4e = o 40 -a
Jlinposcoke 29 5 1.7 9C31bn 63 0.80 | 21 22 330 4e - e 31 B
JHinposcbke 3t 3 0,3 10C3+B6n 86 0,60 I 26 32 340 4e Eas - 42 B
JIHinposcbKe 31 6 14 9C31bn 66 0,70 [ 23 26 330 4e Eas m 40 -
JHinposceke 31 9 3.1 10C3+bn+/13 82 0,60 1A 28 36 380 de P B 28 B
Jninposcbke 3 9 39 9C31Bn 63 0,60 [ 24 28 310 4e =a A 23 B
JHinpoBcbke 33 13 54 10C3+bn+Oc 76 0,70 { 24 28 360 4e Bt “a 31 B
JHinpoBcbke 44 1 6.5 10C3 76 0,65 H 21 24 290 4e - Bt 28 -
JlHinposenke 44 4 4.1 6 C3(56)4C3(66) 56 0,70 If 18 20 280 de Eas . 29 P
Jltinposenke 44 7 0.7 7 C3(80)3C3(60) 80 0,60 1 22 28 270 de = Bt 25 P
Jliuposenxe 44 17 6.5 10C3 86 0,68 111 21 24 270 4e B - 3 P
Huinposcbke 46 15 1,3 10C3+bn 86 0,65 I 28 32 410 4e - B 31 Bt
JHinpoBchke 46 20 1.8 10C3+[13+bn 61 0.70 1A 24 26 370 4e B - 21 -
JIHInpoBChke 46 21 3.8 10C3+bn 54 0,85 1 20 20 340 de = B 30 B
JHinposcbke 47 3 15,0 9C31bn 66 0,70 I 22 24 305 4e - = 25 -
Jlninposcske 47 4 59 9C31 Bu+/I3+ 3 69 0,70 | 24 28 330 4e B - 31 Bt
JHinposebke 47 8 34 10C3(69)+C3(81)+Bn+/[3 69 0,75 I 24 28 400 4e - Bt 20 B
JlHinpoBcbke 47 12 26 10C3+bn 06 0,60 TA 25 28 340 4e - Pl 29 B
JlHinpoBcbie 47 13 3.1 7C33Bn+/13+Bny 66 0,60 1 22 24 230 4e - - 31 -
JHinposebre 47 16 4.1 10C3+bn 96 0,60 i 27 32 360 4e - - 30 -
Jninposceke 47 21 0,3 10C3+Bn+/13 86 0.60 1A 29 36 390 de P PSS 33 s
Jlninposcbke 48 Pl 0.8 10C» 91 0.60 I 26 32 340 de - Ea 30 -
Jlninposcbke 48 12 1,1 10C3 91 0,60 [ 27 32 360 4e - -4 31 -
JHINpoBcbke 48 23 3,7 10C3+bn 87 0,60 [ 25 32 330 de - Bt 30 -
JHinposcske 48 28 2.3 10C3 81 0,60 I 24 28 310 4e B Bt 33 B
IHinposcbke 50 15 0.8 10C3+[13+3 87 0,60 | 28 36 380 4e - - 40 -
JHuinposcsbke 51 27 2.1 10C3+bn 63 0,70 [ 23 26 350 4e - B 38 -
JHinpoecske 52 15 32 10C3+bn 56 0,75 [ 21 22 330 4e - -5 4] -
JlHifipoBehKe 53 1 45 10C3+/13+bn 57 0.75 [ 21 20 33 e P Bl 40 B
Juinposchke 54 17 22 10C3+bn 33 0.80 { 20 20 340 4¢ P B 32 Bl
JIHinpoBChKe 54 22 4.6 10C3+13+6n+51B 50 0,75 A 21 20 340 de = Bt 35 -
JIHINpOBChKE 54 31 2.5 10C3+bn+/13 63 0,65 1A 24 28 345 de - P 38 -
JHinposcbre 55 19 1,3 9C31 1a+bn 71 0,55 I 24 28 280 4e - - 35 -
Hrninposcbre 55 23 1,6 10C3+/]3+bn 71 0,60 1A 26 32 340 4e - £ 30 =
JIHinpoBchke 55 24 1,0 10C3(66)+H13+C3 66 0,60 { 22 24 270 4e = Eas 30 B
JlHinpoBchke 55 25 6.2 10C3+]/13 38 0,85 1A 17 18 270 de - B 32 -
JiHinpoBcbke 55 28 0.3 10C3+bn 89 0.60 I 26 330 4e - - 30 -




I 2 3 4 S 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Nuinposebke 55 31 2.5 - - - 9C316n+/13 67 0,65 I 24 28 330 de BubOiprosa | [lourkomxenns 35 3riAHO
Jnirnposceke 55 32 1,8 - - - 10C3+Bn+/13 51 0,70 1A 22 22 330 4e caHitapHa | cToBGYpOBHMHM 40 martepianin
Jlninposcbke 55 33 1,0 - - - 10C3+[{3+bn 69 0,70 [ 24 28 360 4e pyOka UIKITHHKAMH 38 JHCBNOPSAKYBAHHS
JIHINpOBChKE 55 38 1.8 - - - 8C3(65)2C3(85) 65 0,60 1A 25 30 330 de Bt Bt 40 B
JHinposcoke 55 40 1,1 - - - 10C3 58 0.65 1 22 22 310 de = Bt 40 Bl
Jlninposcbke 56 3 2.0 - - - 10C3+ /13 67 0,63 1A 26 28 380 de e B 35 B
JlHinpoBebke 56 13 26,0 - - - 9C31bn+/13 62 0,88 [ 20 20 350 de - B 40 =
JHinposcbke 56 17 3.5 - - ] - 10C3+bn 84 0,60 { 25 32 345 de B = 30 =
Nuinposcbke 56 20 34 - - - 10Ca+bn 63 0,60 [ 22 22 285 de - B 40 S
JlHinpoBcbke 57 31 2.3 - - - 10C3 82 0,60 [ 25 28 340 4e = s 40 -
JlHinposckke 58 15 85 | - - - 10C3+Bbr+/13 74 0,70 [ 26 28 410 de - - 30 -
JNuinposcoke 59 4 0,5 - - - 10C3+[3+13 86 0.60 I 28 32 380 4e B - 35 “
JIHinpoBcbke 60 9 2,7 - N - 8C31bn10c¢ 82 0,65 I 24 32 310 de Fars - 40 -
JHinpoBcbke 60 31 1,0 - - - 10C3+bn 85 | 0,60 [ 25 32 320 de B B¢ 40 -
JlHinpoBcbke 60 34 3.1 - - - 7C3(613C3(81)+Bn 61 0,70 1 22 26 340 4e - - 40 -
JIHinpoBcske 60 36 1,7 - - - 9C3(86)1 Bn+Oc+C3 86 0,60 I 25 36 300 de Bt Bt 40 B
JIHINpoBChKe 61 35 5,0 - - - 8C3(85)1C3(75)1Bn+ /3 85 0,60 i 25 32 300 4e Eat - 40 -
JlninpoBcbke 62 28 0,2 - - - 10Cs3 85 0,60 i 25 36 330 4e Bt - 30 -
Jlninposenke 64 10 2.0 - - - 10C3+ba+/3 86 0,60 i 28 32 380 de < -5 35 B
JlHinposebke 64 11 8,2 B - - 9C31bnt13t0c+3 62 0,60 1A 25 32 315 4e ~5a Bt 40 B
Jluinposeoie 64 16 2,5 - - - 5Ca2Bn20ct 3 86 0,55 { 26 40 230 de P B 40 B
Juinposceske 64 17 32 - - - 10C3+13+bn+0c 91 0,60 I 27 36 360 4e = - 35 -
JiHinposcbke 64 21 1.2 - - - 6C33bn1[3+0c¢+]13 66 0,60 1A 27 36 280 4e - == 30 -
Jisinposcbke 64 22 2.5 - - - 10C3+bn 78 0,60 I 26 28 340 4e Pl - 40 Bt
JHuinposcbke 65 20 0,9 - - - 10C3+/13+6n 86 0,60 I 26 32 340 de Pl B 35 -e
Jininposcbke 66 3 1,7 - - - 10C3 63 0,70 I 21 22 300 4e B Bt 35 Bl
JIHinpoBchke 66 17 2.3 - - - 10C3+bn 73 0,65 I 24 28 340 de B B 40 -
Jlninposesxke 66 20 1,7 - - - 8C32bn+/3+ANE 66 0,70 | 24 26 300 de Bt P | 40 -
JlHinpoBchke 66 23 1.8 - - - 9C31T3+]13 58 0,70 1A 24 26 310 4 = - 30 B
Jlninposckbice 66 24 0.4 - - - 9C3113+bn 58 0,70 1A 24 26 320 4e < - 35 -
JIHinpoBChKke 67 1 4.1 - - - 10C3+bn 54 0,80 I 21 22 360 4e B B ’ 40 -
JlHinposebke 67 4 3, - - - 10C3+bn+13 46 0,75 I 18 20 280 4e = = 30 1 -
JlHinposcbike 67 35 5.0 - - - 10C3+bn 56 0,85 I 21 22 370 de = Bl 40 B
JiHinposceke 67 7 4.1 - - - 10C3+bn+3 82 0,60 I 25 32 320 de =a B 1 40 B
JHHinposcbke 68 5 3.5 - - - 10C3+ )13 66 0,70 I 23 24 340 | de = B 40 P
Jninposcbie 68 135 35 - - - 8C32bn 43 0,80 A 20 22 290 de - B 40 B
JlHinposcske 70 20 23 - - - 10C3+bn+]13 64 0,60 I 23 26 290 3e = - 40 -
Jlninposcobie 73 | 0,6 - - - 8CHO68) 31 bn+AJIE+] 68 0,60 I 24 28 270 3e B ' EaS 35 R
JIHinpoBehke 73 2 34 - - - 8Cs1Q31bn 82 0,60 [ 24 28 300 3e B Ee 40 =
JlHinposchke 73 4 0,2 - - - 10C3 61 0.60 I 22 24 280 3e - - 3 ==
JiHinposcbke 73 6 1.8 - - - 10Cs+bn 91 0,64 [ 27 32 380 3e A = 40 ] -
JiHinpoBchke 73 7 0,8 - - - 10C3 60 0.70. [ 21 22 310 3e - = 35 -
Jlninposceke 73 8 1,2 - - - 10C3 65 0,70 I 22 24 33 3e B - 35 B
JIHinpoBcbke 74 4 6,2 - - - 10C3 58 0,70 [ 21 24 300 3e e B 30 Bt
JIHinpoRCchke 79 2 5.4 - - - 10C3+6n 43 0,70 i 18 18 240 4e P e 35 B
JlHinpoBcbke 79 4 1,1 - - - 10C3 52 0,75 A 21 20 325 4e B =“a 40 Bt
JIHINPOBChKE 81 10 10.0 - - - 10C3k 51 0.85 1A 21 20 380 4e e e 30 e




1 2 3 4 5 6 7 8 9 10 11 12 13 14 5 16 17 18 19
Jlninposceike 83 2 1.2 - - - 8C3(84)1C3(64) I BIIH 84 0,60 1 25 36 300 4e¢ subiprosa | llowkopxenns 40 3riAHO
Huinposcske 83 S 1,3 - - - 10C3+En+Bay 99 0,50 1 28 40 310 de caHiTapHa | cTOBOYpOBMMYU 35 marepianis
JHinposcske 83 11 0,7 - - - 10C3 99 0,50 i 29 36 330 de pyoka LIKIIHHKAMH 40 JHCBIOPSLAKYBAHHS
JHiTpoBCbKe 83 12 1,6 - - - 10C3 59 0,65 1A 23 26 310 Je £ -a 40 Bt
JlHinposcbke 83 13 1.9 - - - 10C3+bn 69 0,65 { 24 24 340 de | - P 35 -
Jitinposebke 83 18 1.5 - - - 10C3 79 0,50 I 27 36 300 de Bt Eae 35 ==
Jlitinposcbke 83 19 1.2 - Co- - 10C3 99 0,50 { 27 36 300 4e - - 40 Bt
JIHIpOBChKe 83 21 1,7 - - - 10C3+bn 90 0,55 I 26 36 310 4e Pt Bt 40 s
Jluinposcobke 3 25 1.0 - - - 9C31Bin 69 - - 40 -
JHinposchie 83 26 2.4 - - - 10C++bn 79 - - 38 --
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